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FHAERT 90 103 105 208 |Fi FHHT 202 179 168 347|FkET— T H 327 276 203 479 KT 277 315 325 640
ARYHT 186 167 199 366| (BTN 12,431 11,545 12,434 23, 979|%kAT =T H 175 159 131 290 | K HERT 698 835 907 1, 742
JEHT 433 389 455 844 FERT=TH 119 136 140 276  KIEHMX 3,753 4,294 4,466 8,760
T 754 759 781 1, 540| R ERT 236 246 257 503|#kET Y T H 67 39 51 90
b BHT 387 377 397 774U 3,863 3,888 3,948 7,836 A4RHHX 10,029 10,009 9,839 19, 848|F] A HtHT 381 467 459 926
T 259 226 209 435 | far HT 183 196 229 425 BT 260 332 365 697
)T 111 110 111 221\ HHIT 484 483 457 940 [ Hr T 1,270 1,505 1, 487 2, 992|5iET— T H 487 489 516 1,005
KAGHT 626 565 561 1, 1267 TAHT 3,735 3,879 4,021  7,900|%{% H T 348 381 411 7924 LIT Z T H 228 223 256 479
BT 16 10 12 22| FLRmT 3,529 3,581 3,657  7,238|HRAT 1,674 1,659 1,807 3,466 (H/NEAT 603 652 663/ 1,315
E= 201 53 45 52 97| :E HRMT 626 617 626 1,243|H @lT 1,170 1,347 1,305/ 2, 652|144 0T 1,599 1,885 2,025/ 3,910
Fn T 209 204 241 445 | i BT 1,365 1,453 1, 540 2,993 HrEaHix 4,462 4,892 5,010 9,902| I /\iEHHX 3,558 4,048 4,284 8, 332
Aeimmy 101 66 67 133| KA 157 147 170 317
JUTREHT 187 200 225 425| H ERT 332 399 451 850 | -2 HT 3,004 2,918 3,196 6, 114|# sy 439 459 498 957
LI 127 98 84 182 R HRIT— T H 372 383 402 785| K\ AKHT 1,266/ 1,305 1,257 2, 562|FEikHT 300 345 337 682
AT 64 58 62 120 HRIT T H 506 525 499 1, 024|/N\AKHT 1,315 1,433 1,445 2, 878|HHrHHT 720 758 792 1,550
THRIHET— T H 150 153 138 291 ERIT="TH 502 547 546 1, 093|IEMLSFHT 474 547 572 1, 119] s rp BLHT 238 286 291 577
TRIEET =T H 120 136 123 259 | HERATIY T H 321 329 390 TI9|MZRTPE— T H 53 47 28 75| K T 1,2000 1,357 1,420 2,777
TRAHET =T H 113 108 110 218| ZFRHX 16,211 16,673 17,193 33, 866|M =0T T H 117 106 96 202 | BT 747 888 914/ 1,802
TATHETY T A 140 150 160 310 R —TH 326 219 319 538( s thX 3, 644 4,093 4, 252 8, 345
TRIHETE T H 78 62 16 78|41 JE T 3,786 3,860 4,059  7,919|MEAT T H 33 35 33 68
HEFAmT 440 399 466 865 F [T — T H 277 315 357 672|[EIT=TH 24 10 22 32| B BFHT 5, 750 6, 107 6,299 12,406
FI4RAT 21 16 17 33| I T H 594 589 654 1, 2432 T H 123 128 111 239 JLRT 213 268 287 555
TTHT 175 170 195 365 F wHT =T H 896 869 945 1, 814|# L HT 1,951 2,034 2,151 4,185 AEEFHIX 5,963 6,375 6,586 12,961
AT 31 22 24 46|35 JEmT 1,608 1,605 1,710 3,315 HIHIX 8, 686 8,782 9,230/ 18,012
AT 179 142 175 317|FebHAT 1,471 1,417 1,517 2,934 PN/ 393 399 455 854
ENINTE 506 468 522 990 | 52 17 T 188 181 184 365 |4 IRy 467 412 557 969 |5 H T 549 635 647 1,282
YRR 25 17 23 40|\ TARET—T°H 511 489 488 977 | Fl mY 2, 336 2,321 2,387 4, 708| J= B HT 652 772 741 1,513
T 72 60 66 126 )\ FARET =T H 363 332 375 707| TR T 237 296 319 61574 5 HT 152 155 149 304
HEAHT 43 42 51 93|\ TFHET=T H 508 526 545 1, 071 |5 =T 966 962 995 1, 957 |#KJ5UHT 643 742 764, 1,506
[T 371 280 342 622\ THRETIN T H 382 396 453 849 | HRERIT 539 624 622 1, 246| %% T 380 402 386 788
=1 156 149 169 318|  Frf X 10,584 10,579 11,287 21, 866|HTE=HT 385 392 453 8457t f 44 | 554 656 662 1,318
ST 2L 602 579 615/ 1,194 NS0 2,395 2,710 2,792 5502 I X 3,323 3,761 3,804 7,565
LAl 24 26 23 49| Fp=EFRT 2,397 2,512| 2,631 5, 143|#7HIAT 156 202 203 405
# LT 505 484 538 1,022 BFFENRT 42 41 47 88| J\ifEHlX 7,481 7,919 8,328 16, 247| k-yiEHT 278 353 365 718
i 24 30 28 58| b JEHET 3,707 3,716 3,747 7,463 TR THT 159 189 200 389
RS RLET 194 171 169 340 AL BHERT 353 356 421 777 | E Ry 1,291 1, 390 1,416 2, 806 T 7 HIAT 172 214 219 433
JEHT 154 150 149 299 ST 698 701 702 1, 403| T & |y 1,929 2,079 2,140] 4, 219| FiEHT 430 508 516/ 1,024
AT 393 356 392 T48( T EFHT 1,423 1,716 1,698 3, 414 B BT 815 829 918 1, 77| ST 337 440 426 866
PR 19 18 19 37| T ZIRHAT 1,754 1,981 1,968 3, 949| AL A RHET 472 446 509 955 | V5 £ 1] 420 499 458 957
A AR HT 1,602 1,581 1,705 3, 286| T HEHT 1,104 1,191 1,208 2,399 X 4,507 4, 744 4,983 9, 727\ AT 401 166 501 967
R T 179 168 172 340 Hr i PRT 403 448 438 886 i) 1 H X 2,197 2, 669 2, 685 5, 354
gzl 140 127 151 278|FPEIT— T H 585 609 624 1, 233|hHT 494 559 589 1,148
[l 165 137 157 294|TPEET T H 1,332 1,183 1,424 2, 607 |44 HimT 4717 573 585 1, 158[AHIMT = & 455 196 473 969
B oThT 185 166 220 386|EHT =T H 628 653 708 1, 361 (L8 my 176 191 208 399 | A I MT HE FH 383 418 405 823
EN) 157 126 143 269|TPEETIY T H 684 670 728 1, 39817 /7M1 144 175 188 363| A iHR A E 177 183 190 373
JEATEAT 113 78 69 147 BFERT 1,015 1,030 1,081 2, 11|/ I1#] 1,229 1,364 1,422 2, T86| B PNk 113 126 140 266
N 363 379 429 808 |1 FH % HHT 634 627 555 1, 182| a8 BT 382 429 485 914| A BHINT )11 323 327 337 664
L 228 174 212 386| A Hi X 16,759 17,434 17,980 35, 414|%&IHT 444 510 507 1,017 APHX 1,451 1,550 1,545 3,095
1L FRET 106 94 97 191 Fldgmy 270 345 346 691
T 90 76 85 161| F/N 5T 813 856 912 1,768 REFHIX 3,616 4,146/ 4,330 8, 476 | FEARMT VG I = 715 787 856 1,643
PU 7 T 34 32 35 67| E/hbgHT 488 569 615 1,184 FEYBIT 4 U 89 97 111 208
GaeLlE 42 33 40 73| LA AERT 2,924 2,882| 2,675 5,557 L KHHNAT 1,285 1,360 1,405 2, 765|HARM kA2 IR 280 178 165 343
FEELIT 97 84 75 159 /N KT 2,257 2,219 2,189 4, 408 |15 KIEmT 307 369 366 735| FEARIT 1,059 1,252 1,274 2,526
HAEHT 253 254 279 533| T/ T 1,468 1,494 1,490 2, 984 |4EiRT AT 717 889 908 1, 797 | FEARRT HCH = 441 196 512 1,008
FERAHT 337 292 306 598 | HLHHAT 1,391 1,379 1,433 2, 812| FRJENT 469 526 555 1, 081 FEABNT & 1,485 1,650/ 1,708/ 3,358
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FEHRMT T 828 935 991 1, 926 & HHT /1M 147 183 197 380
FEYBIT 5 ] 342 444 430 874|EH T L1 261 293 301 594
BT 213 241 215 456 & FHT AR 508 633 611 1,244
BT 1L 157 181 202 383| AT 293 330 337 667
FEYBHT )1 429 475 503 978 & H-HT 627 751 726 1,477
FEYBIT o B 6 4 5 9| & HMT K 419 527 508 1,035
FEYBHTFIARR 1,017 1,291 1,257 2, 548|75 HHT % 92 119 121 240
FERR T AR 1,934 2,078 2,259 4, 337| EFHHT R 31 40 40 80
FEHRHL X 8,995 10,109 10,488 20, 597| & H-ATHH{R 307 374 371 745
E AT 226 179 217 396
Aty 3,825 4, 480 4, 660 9, 140[FH HMT AR 36 41 42 83
JEFHHET 1,682 1,918 2,035 3, 953[FH HMT KR 8 6 12 18
Ly 594 775 830 1, 605 HFHAT Lt B 373 460 437 897
By 196 234 247 481| HFHTERIR 47 61 62 123
Filaduf 15 0T 306 323 335 658 | HHT A 1 155 173 175 348
N 137 157 163 320 EH T 157 195 198 393
% T FH AT 72 90 101 191| & M7/ R 357 418 423 841
S[E Sy HT 280 399 390 789 | HMT HL ik 116 148 144 292
TG[E 5y HT 232 312 302 614| & HHTE 193 221 222 443
Je sy 406 434 425 859 | H:HT /N 210 258 254 512
TorE BT 3,594 4,178 4,228 8,406 HHHT IS EE 586 681 691 1,372
AT 1,725 2,058 2,103 4, 161[H MR — T H 341 371 373 744
= Sl 863 1,027| 1,053 2,080 HHETEME T H 394 417 458 875
rhR T 1,558 1,682 1,702| 3, 384[HFHMTE G =T H 299 411 389 800
T 1,395 1,475 1,520 2,995| 7 HHT I 333 371 394 765
LT 489 583 602 1, 185| & HHT T B 94 115 116 231
R FH AT 640 810 794 1, 604| & H-HT_E B 128 168 148 316
JE T 558 635 671 1, 306| & HHTH A 54 63 68 131
TG H X 18,552 21,570 22,161 43,731 HHHX 9,994/ 11,560 11,745 23,305
iy 5,712 5,777 6,079 11,856
IR LIRS 5,712 5,777 6,079 11,856
e HET 1,082 1,205 1,244 2,449
P T 876 759 871 1,630
s T 166 522 515 1,037
e Ly 38 29 40 69
BT 34 26 38 64
R BT 402 540 551 1,091
T RLET 997 1,113 1,174 2,287
v L LT 741 843 894 1,737
R ELEET 1,031 1,153) 1,166/ 2,319
AGRHE] 891 1,085 1,055 2,140
T 700 801 841 1,642
FIE T 181 208 201 409
+ 3T 183 208 224 432
ERET 329 390 373 763
=Y A-RAT 99 98 104 202
AT 118 136 136 272
Hedn X 8, 168 9,116 9,427 18,543
E T I 661 710 725 1,435
T H 1,192 1,252 1,323 2,575
EFHH] T RAR 289 325 327 652
AT AR 1,060 1,266/ 1,335 2,601 B & F 170,076| 181,645 188,136/ 369, 781




